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1. (15%) Evaluate I=[v-dR,

r
where 7 =254 -2yz —(»* + 3k , and I is some rather complicated path from (0, 0,

0) to (0, 0, 4) as sketched in Fig. 1.

Fig. 1
2. (15%) () Find the Fourier integral representation of the Rectangular pulse £
shown in Fig. 2.
(b) Evaluate the value of f(x) at points x==%L where f has jump

(5%)
discontinuities.




wyp: 1852207 BT AR Ih AR | 05 R L R A R R
B BHTRSR BrSFn L - R TIL

%
EHEH - TEEE
E2H # 2 H

W BEETE  AHEREERTER -

S HHE 0227 - B : 3

sapa g k)R ARG LEEE  ATHS

3. (15%) How many roots does the equation
7722+ 6z°-z+1=0

have inside |z| =27 (Hint: use Rouche’s theorem)

4. (15 %) Solve the following differential equations.
{X' ® = x®-3y(®)
¥ (® = =x() - y(t) - 4°

5. (20%) Solve the following differential equation:

xfliv——*(x+1)y—vx2+x3 =0

6. (15%) Solve the following differential equation
4y" — 20y +25y=0




